AP Calculus BC Name: _ '( ‘
Unit 11 - REVIEW WARM-UP
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1. Calculator Active

At time ¢ 2 (1 a particle moving along a curve in the xy-plane has posit
¥(1) = {fﬁi}ﬂ[!z} s’ﬁ'*@"g).. At f = 1, the particle is at the point (3,5},

(a1 Firad the E-coordinate of the positiolof the particle at time 7 = 2.
(by For 0 < ¢ < 1, there is & point on the curve at which the ling tangen
Al what time s the object at that pomt?

(¢} Find the tme at which the speed of the partiele 35 3,

{dy Fud the wial distance traveled by the particle from tme 1 = 0 o ¢
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2. Calculator Active

The graphs of the potar curves r = 3 and r = 4 - 2Zsm @ are shown in

. x ¥4
ahove, The curves intersect when 8 = {‘; and 8 = «'-&--a

(@) et S be the shaded region that s inside the graph of r = 3 and also)
graph ol » = 4 = 2sin 4. Find the arca of 5.

thy A particle moves along the polar curve = 4 — 2¢in @ so that af timy

seconds, & = 17, Find the time ¢ in the interval 1 €7 £ 2 for which*
the x-coordinate of the particle’s position 1§ ~1. ol

{c) For the particle deseribed in part (b), find the position vector in termg
e £ = 135

2 (a3%+ 2920) = 10.575-
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pveas 10.512 + 14 137 _-:\aq,jg)
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